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Questions

According to agriculture expert's investigation, earth's:

Sri Lanka's exports are mostly dependent on:

Only 3 percent labour force of United States of America is:

At present, in agriculture activity, world's:

Agricultural started in such area of the wrold:

In most of the countries of world, agriculture's share in economy:

Agricultural is man's:

Answers Choice

A. 20 percent can be used for
agriculture

B. Only 10 percent earth is available
for agriculture

C. 49 percent could be used for
agriculture

D. 11 percent can be used for
agriculture

A. Wheat export
B. Tea export

C. Coconut export
D. Fish export

A. Working in agriculture sector
B. Working in industrial sector
C. Working in fishing sector

D. Working in transport sector

A. 15 percent population is engaged
B. 50 percent labour force is
engaged

C. Only 5 percent labour force is
engaged

D. 90 percent labour force is
engaged

A. Where sufficient water was
available

B. Where water was not available
C. Where water was needed

D. Rainfall was sufficient

A. Has not much consideration
B. Has special consideration
C. Has backbone's importance
D. Has not any consideration

A. Primary economic activity
B. Secondary economic activity
C. Quinary economic activity
D. Tertiary economic activity



